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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500

3000

| —¢—  EcFzExp
| —>¢— ECdef
—>— water_ec

2500

2000

1500

1000

—-

Warning: co

| ['EcFgro’,

"EcPltng

'] is missing

500

25

5

0

75

100

125

200 2 28 XX XX X 2 X X

150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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09:30 74 50.0 |Z=| {Ri%@09:30 Bz (KREAEZEHE)
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24t]888.0 (12)%) 600. 0 ZHKEC: 2270.0, PH: 6.5
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1 [EKECE (1980. 0 vs 3050.0) 1B
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LORGEBIPH (10.3) S5#AE (6.5) REKK, BRE
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G3-4

Bfia) | EBEETIC (7)) | EHE (BAH/K) | XK EE

06:15 56 40.0 El 1BRi&e06:15 Bz (GRFAEREE)
07:05 56 40.0 E|  {Rig@07:05 Bah (RE{ERSE)
07:55 56 40.0 | 1Ri%e07:55 B (KRFAERER)
08:40 56 40.0 =l 1BRi&e08:40 Bz (RAEREE)
09:25 56 40.0 E| {Rig@09:25 Bah (RE{ERSE)
10:10 56 40.0 |Z=| 1Ri%010:10 B3h (KRAHERESE)
10:55 56 40.0 | =| 1Ri%e10:55 B (kAFEREE)
11:40 56 40.0 E BRige11:40 Bz CGRAERESE)
12:25 56 40.0 S| {Ri%e12:25 Bz (RAERSE)
13:10 56 40.0 =l RRiB013:10 Bz (RFAEESE)
13:55 56 40.0 E BRi&e13:55 Bz (GRAERE)
14:50 56 40.0 El BRi&e14:50 Bz GRAERESE)
16:00 56 40.0 =l RRiB016:00 Bz (RFAEEE)
2it|728.0 (13%) 520.0 FHIKEC: 2270.0, PH: 6.5

ERGERIREL RN (0.55 vs 0.61), AIREE S AEES EEEESKERE
MERRHLEME STHAEARSY (31.0 : 38.0), HEE/KEEERME
ZRINKPRIEBRL38. 0 ml.

REFREBIPH (10.43) 5i8EPH (6.5) RER K, HRE

FEREIPH (10.43) 5FPH (6.5) REKK, FHRE

EYGERPH (10.4) 5i18EE (6.5) REKK, FHE.

LRGERIPH (10.4) S5RBIE (6.5 RERK, BRE,
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G3-4

BjiE) | JEBEETIE (7)) | EHME (BAH/K) | XS R

06:40 57 50.0 E 1BRi&e06:40 Bah (RAERE)
07:30 57 50.0 5| {Ri%@07:30 B3 (FRAERSE)
08:40 57 50.0 5| {Ri&e08:40 Bz (REAEESR)
09:35 57 50.0 = {RRiB009:35 Bz (REAKEE)
10:30 57 50.0 5| {Ri1&@10:30 Bzh (RAERSE)
11:25 57 50. 0 =l {Rige11:25 B3 (RAERSE)
12:25 57 50. 0 = Rige12:25 B (REAHRESE)
13:20 57 50.0 E| {Rig013:20 B3h (RE{ERSE)
14:10 57 50.0 5| 1RiRe@14:10 Bz (REAERES)
15:00 57 50. 0 = Ri%e15:00 B (REATREEE)
15:50 57 50.0 F BRi%e15:50 Bz (GRAERRE)
16:45 57 50. 0 E BRige16:45 Bz (GRAERESE)
2it]684.0 (12)%) 600. 0 ZHKEC: 2145.0, PH: 6.5

ORI RTHC R IRIEEZ Y (57 vs 76.0))
ELIASEFRIERE38.0 ml.

REXFEBPH (10.28) 5i&%EPH (6.5) RER K, HFHRE
REXEEBPH (10.28) 5FMIPH (6.5) REKA, BFHRE
EUEEEIPH (10.4) 58 FE(E (6.5) REK K, BB,

EORGEBPH (10.4) S5RRAGEY (6.5) RERK, FEE.
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